Ei/ﬂ: , 35. In a marathon. when the winner crosses the finish line many runners are still on
o the course. some quite far behind. If the density of runners x miles from the finish
@ line is given by R(x)=20[1 — cos(l + 0.03x7)] runners per mile, how many are
within 8 miles of the finish line?

(A)'BO (B) 145 (C) 157 (D) 166 (E) 195
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| Pi) ﬂfl 36. Find the volume of the solid generated when the region bounded by the v-axis, v = ¢*,

| and y = 2 is rotated around the y-axis.
‘ (A) 0.296 (B) 0.592 (C) 2427 (D) 3.998 (Ey 27.577
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s B = f dr then f(r) equals
o1 2 o 2 L
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38. You wish to estimate e", over the interval | x| < 2. with an error less than 0.001,
The Lagrange error term suggests that you use a Ta\ lor polynomial at O with degree
at least
(A) 6 (B) 9 ()10 (D) U (E) 12
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